Station and Location:

# AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check applicable box)		•
☐ FEDERAL	CAND	DIDATE

## X STATE/LOCAL CANDIDATE

Date:

To Avail Themselves Of The Lowest Unit Charge During A Political Window, Federal Candidates Must Sign The Certification On Page 3

1280 WHVR, HA	porer, pa	17331	4-6-2016
I, WILL TALL	-MAN		
beinglon behalf of:			
a legally qualified candidat	e of the <u>REF</u>	WBLICAN	
political party for the office	of: PA 193	AD DISTR	ICT REPRESENTATIV
in the PRIMARY			
in the PRIMARY election to be held on:	APRIL :	26. 2016	

Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
60 SEC	6A- 10A 10A - 3P 3P - 8P 8P- MID	9	PAE - Emptible	11 11 7 1	1.285

1		
-	Attach proposed schedule with charges (if available):	\$ 105 9
•		

I represent that the payment for the above described broadcast time has been furnished by:						
•	LLMAN. COM					
and you are authorized to announce the time as paid for by such person or entity. I represent that this person or entity is either a legally qualified candidate or an authorized committee/organization of the legally qualified candidate.						
The name of the treasurer of KERRY	the candidate's authorized committee	is:				
NERR 1 3	PANG CCI					
This station has disclosed to me its political advertising policies, including: applicable classes and rates; and discount, promotional and other sales practices (not applicable to federal candidates).						
	DISCRIMINATE OR PERMIT DISCRI THNICITY IN THE PLACEMENT OF					
To Be Signed By Candidate or Authorized Committee						
4-12-2016	X Will Tullion Signature					
Date	Signature					
To Be	Signed By Station Representative					
Accepted	☐ Accepted in Part	☐ Rejected				
	Ancia andia.	24/2011				

## FEDERAL CANDIDATE CERTIFICATION

In Order For Federal Candidates To Receive The Lowest Unit Charge During A Political Window, The Following Certification Is Required:

l,						
(name of federal candidate or authorized committee) programming to be broadcast (in whole or in part) pur	hereby certify that the rsuant to this agreement:					
□ does	does not					
refer to an opposing candidate (check applicable programming that does refer to an opposing candidate	box). I further certify that for the					
(check applicable box)	<b>Y</b>					
the radio programming contains a personal audio identifies the candidate, the office being sought, and	statement by the candidate that that the candidate has approved					
the broadcast.	the broadcast.					
the television programming contains a clearly identified of the candidate for a duration of at least four statement identifying the candidate, broadcast, and that the candidate and/or the candidate the broadcast.	seconds, and a simultaneously , that the candidate approved the					
signature of candidate or authorized committee						
printed name	date					

### AGREED UPON SCHEDULE

# (TO BE FILLED IN ONLY IF STATION DOES NOT ACCEPT ALL OF CANDIDATE'S REQUEST)

Broadcast Length	Time of Day, Rofation or Package	Days	Class	Times per Week	Number of Weeks
·					

Attach proposed schedule with charges (if available)
--

### **AFTER AIRING OF BROADCASTS:**

Attach invoices or Schedule Run Summary to this Form showing:

- 1) actual air time and charges for each spot;
- 2) the date(s), exact time(s) and reason(s) for Make-Good(s), if any; and
- 3) the amount of rebates given (identify exact date, time, class of broadcast and dollar amount for each rebate), if any.

Note: Because the FCC requires that the political file contain the actual times the spots air and the rates charged, that information should be included in the file as soon as possible. If that information is only generated monthly, the file should include the name of a contact person who can provide the times that specific spots aired and the rates charged. The FCC's online political files include a folder for "Terms and Disclosures." NAB suggests that, for stations subject to the online public file rule, the names of contact person(s) be placed in that folder.

, ;	5					v.
·	r distribuição de la compansión de la comp	NILL TALL	m AJ	PRIMARY 2	016 <u>w</u>	HVR
		64-10A	10A-3P	<u> 5 P - 8P</u>	87- MID	TOTAL
4/1c	5 Å			angaran ing pagan manininga batan araw na na batan a	response and the contract of t	na kajungawa unaku P. Ko. K. i K. <del>alaba</del> nda sabah
	۲u		THE REPORT OF THE PROPERTY OF			
ula	٨	·	l			٤
419	TV					2
4/20	M				e o participat de la compansa de la	2
4ke	714	The second secon				2
<u>યા.</u>	F		t and the second	1	ing day of plantings of section endocrosses and the contract of the contract o	3
4123	SL		t			3
4(24	SV	L		L		3
प्राप्ट		2	2	2		7
4/24	TV	2	2			6
on the house and comment	TO THE THE WAR AN ART THE THE					30
		30 x 3.	50 = \$105°°	VIA WETY		
		WILLFTALL	-MAN . COM			
\#. •	The contract of the same of	P.O. BOX	404	er produs sel Malabata e romana as Malabata et artisalar ottomista des Asia e esta esta esta esta esta esta est	er mindeler de inge gjelomblikkeler mensimble e ingesteerne stad mindeler is. In Mindeler i	en a provincio e i vinchia i a tenno que format del tenno del formatione del composito del composito del compo
ed their subsection and their subsections.	ert fille (n.) - fillegrass are the chiquest		W, PA 173	16		a and an extension of the second seco
	erth ribbs ribbs set stranger, c	WILL TA	emplored manufact to the foliation of the first consequence of the state of the sta			man idam i falseni iz est 🖦 .
o native and page 1 to 10 to 10 p.m.	man sa man s	717-353	- 1323		manan mananin manan panangan mananan persamban nasahan sa	and a succession of the second
		PROTUCTION	FRM W6'	TY VIA WAI	LT TUCHALIKI	
ika - Janghandan kabuna sa isti san b	t that bearings to see			and the second s		109-2482

DIBOIL TOTALS A 1816 1980 le 9 18 18 algeh alfsoln 49516 NOTES JAHUARY SIGNATURE\_ DATES AUTHORIZED BY: TIME ORDER AIROT 4)24/16 alloelh PALCA 4|96|1e 100 F DANEW ORDER SUPERBEDES PREVIOUS AGENCY
ADD TO ANTIONAL
REGIONAL <u> 子別</u> FEBRUARY BALEBPERSON HOUSE PROGRAMIPACKAGE blobist E. Showerst Ø Ø Ø MARCH v 00 ALOCAL. Sign BROADCAST PATTERN APRIL STATION WHUR CONTRACT\_ DATE 4/14/16 ACCOUNT #\_ CO-OP COLITICAL ₩ 붎 8 I W 魔 ATING LOG AS BUYER 30 SU Ö CONTACT CITY/STATE/ZIP ADDRESS. AGENCY\_ PHONE CITYISTATERIP ECOST BEXIO ADVERTIGER WIN F TONIMON COM ADDRESS PO BOX YOU 2001 Ø B BIARY AUGUST DAYPART 0 900 300 000 S REPTEMBER 8 60 60 60 6 6 HENOTH ઠ્ઠ DATE 4/14/16 COYOBER NET DISCOUNT **GROSS** 350 3 3.50 3,50 3.50 350 350 PP 173/6 RATE NOVEMBER 8 Co. HB SON NO 14.00 14.00 14.00 10.50 350 14.00 TOTAL \$ DECEMBER

WY.CR-FM WHVR-AM FOREVER MEDIA, INC. 275 RADIO RD HANOVER, PA 17331 717-637-3831

Order #:

A940-00029

Description:
Date Entered:

AM Radio Spots 4/15/2016

P.O.#:

Salesperson:

House, House

Invoice Frequency: Billed at end of Cal/EOS, Sorted by Date Notary Req'd

WILL F TALLMAN PO BOX 404 EAST BERLIN, PA 17316

On-Air	Schedule
--------	----------

	Start Date	End Date Station	Scheduled Time/Event	Repeated	Length	Qty	Rate	<u>Total</u>	<u>M</u>	<u>Tu</u>	W	Th	E	<u>Sa</u>	Su	
1	4/18/2016	4/26/2016 WHVR-AN	1 06:00:00a to 10:00:00a	CUSTOM	1:00	11	3.50	38.50	Υ	Υ	Υ	Υ	Υ	Υ	Υ	
	4/18/2016	4/24/2016				7	3.50	24.50	1	1	1	1	1	1	1	
	4/25/2016	4/26/2016				4	3.50	14.00	2	2	0	0	0	0	0	
2	4/18/2016	4/26/2016 WHVR-AN	10:00:00a to 03:00:00p	CUSTOM	1:00	11	3.50	38.50	Υ	Υ	Υ	Υ	Υ	Υ	Υ	
	4/18/2016	4/24/2016				7	3.50	24.50	1	1	1	1	1	1	1	
	4/25/2016	4/26/2016				4	3.50	14.00	2	2	0	0	0	0	0	
3	4/18/2016	4/26/2016 WHVR-AN	1 03:00:00p to 08:00:00p	CUSTOM	1:00	7	3.50	24.50	Υ	Y	N	N	Υ	Υ	Υ	
	4/18/2016	4/24/2016				3	3.50	10.50	0	0	0	0	1	1	1	
	4/25/2016	4/26/2016				4	3.50	14.00	2	2	0	0	0	0	0	
4	4/18/2016	4/26/2016 WHVR-AN	08:00:00p to 12:00:00a	CUSTOM	1:00	1	3.50	3.50	Y	N	N	N	N	N	N	
	4/25/2016	4/26/2016				1	3.50	3.50	1	0	0	0	0	0	0	

Order Start Date: 4/18/2016

Order End Date: 4/26/2016

Spots: 30

**Total Charges:** 

\$105.00

All advertising is sold pursuant to the conditions set forth in the Stations' advertising contract. We do not discriminate by race or ethnicity in the sale of advertising and will not accept advertising that we have reason to believe is placed with intent to discriminate.

Projected Calendar Month/End-Of-Schedule Rilling To	-4-1- 4 MULL TTALL BEAN! / AO40 00000 .

April

2016

Spot Count 30 *Net Billing* \$105.00

Confirmed & Accepted for WYCR-FM WHVR-AM By:

Accepted for WILL F TALLMAN By:

Please Sign and Return One Copy

WYGR-FM WHVR-AM FOREVER MEDIA, INC. 275 RADIO RD HANOVER, PA 17331 717-637-3831

#### WILL F TALLMAN

Advertiser ID: 940 - PP

Amount Paid \_

Official Invoice	Date	

DETACH AND RETURN WITH PAYMENT

A940-00029-0000

O 4/30/2016

WILL F TALLMAN PO BOX 404 EAST BERLIN, PA 17316

Purchase Order Number:

Est. Number:

Co-Op:

Description: AM Radio Spots Salesperson: House, House

Date	Day	Lanath			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,			V-3411111-FV	Otto	Data	Total
Date	Day	Length				~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~			Qty	Rate	Total
4/40/0040		4.00	14/11/15 444	00:00:44.514		Code: NA				\$2.50	67.0
4/18/2016	i 1		WHVR-AM	08:20:11AM					2	\$3.50	\$7.0
4/19/2016			WHVR-AM	07:35:11AM					2	\$3.50	\$7.0
4/20/2016			WHVR-AM	09:05:01 AM					2	\$3.50	\$7.0
1/21/2016			WHVR-AM	09:20:18 AM					2	\$3.50	\$7.0
1/22/2016	1	1:00	WHVR-AM		12:10:34 PM				3	\$3.50	\$10.5
1/23/2016	Sat	1:00	WHVR-AM	07:04:00 AM	01:02:00 PM	03:05:01PM			3	\$3.50	\$10.5
/24/2016	Sun	1:00	WHVR-AM	06:46:59 AM	12:02:00 PM	07:35:44 PM			3	\$3.50	\$10.5
1/25/2016	Mon	1:00	WHVR-AM	07:50:11 AM 06:21:10 PM	08:07:48 AM 10:03:31 PM	01:33:44 PM	02:34:34 PM	05:50:32 PM	7	\$3.50	\$24.5
1/26/2016	Tue	1:00	WHVR-AM	08:05:59 AM 05:51:17 PM	09:29:49 AM	10:06:11 AM	01:35:43 PM	04:19:35 PM	6	\$3.50	\$21.0
			İ						27.75	te Land	5

NET 15 DAYS. LATE FEE OF 1.5%/MONTH (18% PER ANNUM) MAY APPLY.

All advertising is sold pursuant to the conditions set forth in the Stations' advertising contract. We do not discriminate by race or ethnicity in the sale of advertising and will not accept advertising that we have reason to believe is placed with intent to discriminate. \$105.00

Affidavit Of Performance: I,

County: Adams State: PA

Robert Innerst - Station Official

certify that in accordance with official station logs, the above announcements were broadcast on the days and hours stated. Subscribed and sworn before me this 2nd day of May, 2016

Karen L. Smith - NOTARY PUBLIC

Commission Expires - 7/23/2017

COMMONWEALTH OF PENNSYLVANIA Notarial Seal

Quantity

**Total Due** 

30 Total

\$105.00

Karen L. Smith, Notary Public Conewago Twp., Adams County My Commission Expires July 23, 2017

MEMBER, PENNSYLVANIA ASSOCIATION OF NOTARIES